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Paper / Subject Code: 98025 / Economics: Paper 1V - Advanced Economic Theory.
Q. P. Code : 39264

[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.

N.B: 1. Attempt any five questions, selecting not more than three from one section.

2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

Section - |
Attempt any Two of the following.
a) Explain Cournot’s Model of Oligopoly Market.
b) Discuss in brief, the different types of price leadership under oligopoly.
c) Explain ‘Prisoner’s dilemma in Game Theory.

Attempt any Two of the following.

a) Explain factor price determination when there prevails imperfect competition in the
product market and factor market.

b) Explain the Lonable funds theory of rate interest.

c) Explain the risk bearing and uncertainty Theory of Profit.

Attempt any Two of the following.

a) Explain General Equilibrium Analysis in production.

b) What is Pareto optimality? Explain the marginal conditions of pareto efficiency.

c) Discuss how the Pareto-Optimality conditions are fulfiled under perfect competition

Attempt any Two of the following.

a) Explain the concept of search cost. Discuss the problems of information failure.

b) What is market signalling? How can it be used to solve the problem of adverse selection?
c) What is efficiency wage? Explain the efficiency wage theory.

Section - 11
Attempt any Two of the following.
a) Derive IS curse and explain its features.
b) Show the relationship between slope of LM curve and effectiveness of fiscal policy.
c) Explain the determination of equilibrium level of output and price by using the aggregate
supply and aggravate demand curves.

Attempt any Two of the following.

a) What is meant by real exchange rate? Give arguments in favour of flexible exchange rates.

b) Describe the Mundell-Fleming model with flexible exchange rates.
c¢) Explain the concept of currency crisis.

Attempt any Two of the following.

a) Explain the modem theory of international trade.

b) Define tariffs. Describe the various effects of tariffs.

c) Explain the arguments in favour of protective trade policy.

Attempt any Two of the following.
a) Discuss the ability-to-pay principle of taxation.

b) Discuss the role of the state in correcting market failures.
c) Describe the impact of different elasticities of supply on incidence of taxation.
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